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Word level Rewvision

Add an adjective.

She is wearing a dress.




Word level Rewvision

Rewrite the sentences, replacing the underlined
nouns with the correct pronouns.

Sara played Scrabble even though Sara doesn’t really like Scrabble.

Sara played Scrabble even though she doesn’t really like it.

Some Australian spiders are venomous so be careful not to

approach the spiders.

Some Australian spiders are venomous so be careful not to
approach them.



Word level Year 5
Past proqgressive or present ,pf,ogg.ezs/s,w.e?
He w.as w,a.Lkm,g past the /s}w,p/s.

[ .am finishing my drink hefore |
leave.

Womw ! [t is amazing.



Sentence Rewvision
Use a subordinate conjunction to add to each

subordinate clause.
And, but or s0?
[ dont ~visit the library ~versy much. |
do like reading.
The horse was spooked. [t kicked .out in

Mary climbed the ladder. She got into the
top bhunk.




Sentence Rewision

Underline the subordinate clause
[ love playing football, even ,thﬂu,g}L |

never MWan.

Because I was in Paris, I went up the
Eiffel Tower.



Serntence Year 5

Use .a rdinati ' lon to add to
Altho ., hecause., since

_ you start to feel sleepy, syou should
open the car window .

_ the lights had turned green, the .car
stood still.



Text Year 5

Punctuation Pairs

Can you match the independent clauses and link them using a colon or a




Text Year 5

Active or Passive voice?




Runctuation Rewision

commas in the correct places. Do iyou need to

change .arything else?

1) we had a full english hreakfast sausages
bhacon eggs .and beans.

2) in london syou will find the tallest
building in hritain the shard which w.as
built in 2012 .




Runctuation Year 5

Insert a pair of brackets in the correct place in the sentence below.
Lisa who had been playing the piano since she was nine

had achieved Grade 7.

1 mark

Insert a pair of brackets in the correct place in the sentence below.

Using public transport such as buses and trains can reduce

pollution.

1 mark






